Whirlpool CG2951XYN2 02 - CABINET

CABINET PARTS
P Moo

omr S ks
72 %ﬁ}‘_ |

Whirlpool Commercial Whirlpool CG2951XYN2 Dryer Parts Parts Diagram 02 - CABINET
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 3388229 Retainer, Toe Panel
7 343641 Screw, 10AB X 1/2
Come T
9 693995 Screw, Hex Head
16 238088 8066217 Hinge, Top
|
a
voomm e
18 3396807 280040 Panel-Rear
19 341029 _ Clamp, Pipe Door Spring
20 98669 Lock, Front Top
" 356837 Locator, Top Lock
21 98234 Clip, U-Bend
22 349462 279264 Air Channel Box
23 3401771 W10492502 Burner-Gas

24 693980 280067 Panel


http://www.pwslaundry.com/c-299455-commercial-whirlpool-cg2951xyn2-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-7801668-whirlpool-3388229-dryer-retainer-toe-panel.html
http://www.pwslaundry.com/i-10762866-whirlpool-4331106-washer-dryer-screw-no-10-32-x-7-16.html
http://www.pwslaundry.com/i-10762871-whirlpool-681414-washer-dryer-screw-10ab-x-1-2.html
http://www.pwslaundry.com/i-7796803-whirlpool-18849-dryer-pad-top-hinge.html
http://www.pwslaundry.com/i-7802412-whirlpool-693995-washer-dryer-screw-hex-head.html
http://www.pwslaundry.com/i-7801816-whirlpool-3396795-dryer-cover-terminal-block.html
http://www.pwslaundry.com/i-7802632-whirlpool-8066217-dryer-hinge-top.html
http://www.pwslaundry.com/i-7802401-whirlpool-691581-dryer-lever-door-switch.html
http://www.pwslaundry.com/i-7800493-whirlpool-280040-dryer-panel-rear.html
http://www.pwslaundry.com/i-7801964-whirlpool-341029-dryer-clamp-pipe-door-spring.html
http://www.pwslaundry.com/i-7803289-whirlpool-98669-dryer-lock-front-top.html
http://www.pwslaundry.com/i-7802038-whirlpool-356837-dryer-locator-top-lock.html
http://www.pwslaundry.com/i-2882793-whirlpool-98234-washer-dryer-clip-u-bend.html
http://www.pwslaundry.com/i-7800446-whirlpool-279264-dryer-air-channel-box.html
http://www.pwslaundry.com/i-10762931-whirlpool-w10492502-dryer-burner-gas.html
http://www.pwslaundry.com/i-7800499-whirlpool-280067-dryer-panel.html

29
30

31

32

33
34
35
36
37
38
39
40
41
42
43
44

46

68

70

693984
693981
3392100
279810
697095
697097
697096
3399580

3399581

347207
90767

660991
686590
18776
685203
3393909
297092
3389441
3395652
348780
660997
172455
3401775
3391943
691366

660658

343481

685441

3401143
90406
694091
3390734
696144
348023
694091
695656
348205

98997

688074

Not Available

Not Available

Not Available

279347

3400500
279923

660658

660658

W10299847

279570

280077

Panel

Panel

Feet-Leveling
Foot-Optional

Panel, Toe (White)
Toe Panel

Panel, Toe (Almond)
Cabinet Assembly

Cabinet Assembly (Includes
lllus. Nos. 5, 7, 16, 29, 41 &
57) (Almond)

Cabinet (Golden Harvest
(Includes lllus. Nos. 15, 18, 25
and 39))

Screw, 6-20 X 1 1/16
Switch-Lid

Screw, 8A X 3/8 HeX Washer
Head Tapping

Ignitor

Ignitor

Lock, Front Top

Clip

Screw, 8-32 X 7/8

Clip

Door Catch Assembly
Motor-Drve

Base, Motor

Belt

Bolt, 3405245 5/16-18 X 3/4
NAT Gas

Boot, Foot

Idler And Pulley Assembly

Clamp, Motor Mounting
343481 685441

Clamp, Motor Mounting
343481 685441

Clamp, Motor Mounting
343481 685441

Pulley-Motor

Cage Nut, 5/16-18
Trim, Side Right Hand
Seal, Door

Latch

Hinge And Pin Assembly
Trim, Side Right Hand
Door

Door, Front

Door Front

Door, Front

Handle, Door

Handle, Door

Handle, Door

Clip, Harness Follwoing Parts
Optional Are Not Supplied On
This Whirlpool Model. But Are
Available For Purchase.

Bracket, Top Lock


http://www.pwslaundry.com/i-7800497-whirlpool-280064-dryer-panel.html
http://www.pwslaundry.com/i-7800498-whirlpool-280065-dryer-panel.html
http://www.pwslaundry.com/i-10762869-whirlpool-49621-dryer-feet-leveling.html
http://www.pwslaundry.com/i-7800471-whirlpool-279810-dryer-foot-optional.html
http://www.pwslaundry.com/i-7800482-whirlpool-279913-dryer-toe-panel.html
http://www.pwslaundry.com/i-7801834-whirlpool-3399580-dryer-cabinet-assembly.html
http://www.pwslaundry.com/i-7801836-whirlpool-3399584-dryer-cabinet-new-gold-includes-illus-nos-15-18-25-and-39.html
http://www.pwslaundry.com/i-7803283-whirlpool-98129-dryer-screw-6-20-x-1-1-16.html
http://www.pwslaundry.com/i-1397616-whirlpool-279347-washer-dryer-switch-lid.html
http://www.pwslaundry.com/i-2882789-whirlpool-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10762842-whirlpool-279311-washer-dryer-ignitor.html
http://www.pwslaundry.com/i-10762842-whirlpool-279311-washer-dryer-ignitor.html
http://www.pwslaundry.com/i-2770973-whirlpool-18776-washer-dryer-lock-front-top.html
http://www.pwslaundry.com/i-7800444-whirlpool-279220-dryer-clip.html
http://www.pwslaundry.com/i-7801777-whirlpool-3393909-washer-dryer-screw-8-32-x-7-8.html
http://www.pwslaundry.com/i-7800553-whirlpool-297092-dryer-clip.html
http://www.pwslaundry.com/i-7801696-whirlpool-3389441-dryer-door-catch-assembly.html
http://www.pwslaundry.com/i-7800475-whirlpool-279827-dryer-motor-drve.html
http://www.pwslaundry.com/i-7801983-whirlpool-348780-dryer-base-motor.html
http://www.pwslaundry.com/i-7801966-whirlpool-341241-dryer-belt.html
http://www.pwslaundry.com/i-7801857-whirlpool-3400500-dryer-bolt-3405245-5-16-18-x-3-4.html
http://www.pwslaundry.com/i-7800483-whirlpool-279923-dryer-nat-gas.html
http://www.pwslaundry.com/i-7801741-whirlpool-3391943-dryer-boot-foot.html
http://www.pwslaundry.com/i-7802400-whirlpool-691366-dryer-idler-and-pulley-assembly.html
http://www.pwslaundry.com/i-7802367-whirlpool-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-7802367-whirlpool-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-7802367-whirlpool-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-10762836-whirlpool-w10299847-washer-dryer-pulley-motor.html
http://www.pwslaundry.com/i-2882788-whirlpool-90406-washer-dryer-cage-nut-5-16-18.html
http://www.pwslaundry.com/i-7802416-whirlpool-694091-dryer-trim-side-right-hand.html
http://www.pwslaundry.com/i-7801726-whirlpool-3390734-dryer-seal-door.html
http://www.pwslaundry.com/i-10762843-whirlpool-279570-washer-dryer-latch.html
http://www.pwslaundry.com/i-7801979-whirlpool-348023-dryer-hinge-and-pin-assembly.html
http://www.pwslaundry.com/i-7802416-whirlpool-694091-dryer-trim-side-right-hand.html
http://www.pwslaundry.com/i-7800500-whirlpool-280077-dryer-door.html
http://www.pwslaundry.com/i-7801981-whirlpool-348205-dryer-door-front.html
http://www.pwslaundry.com/i-7802390-whirlpool-689319-dryer-door-front.html
http://www.pwslaundry.com/i-7802389-whirlpool-689314-dryer-door-front.html
http://www.pwslaundry.com/i-7802380-whirlpool-686711-dryer-handle-door.html
http://www.pwslaundry.com/i-7802392-whirlpool-689586-dryer-handle-door.html
http://www.pwslaundry.com/i-7802387-whirlpool-689308-dryer-handle-door.html
http://www.pwslaundry.com/i-7803290-whirlpool-98997-washer-dryer-clip-harness-follwoing-parts-optional-are-not-supplied-on-this-whirlpool-model-but-are-available-for-purchase.html
http://www.pwslaundry.com/i-7802382-whirlpool-688074-dryer-bracket-top-lock.html

7 354730 Bolt, 5/16-18 X 2 3/4

87 356674 Cone, Wedge

91 271172 487939 Nut

94 3357341 Bracket, Front Top Lock

laundry company*

laundry company®

laundry company®



http://www.pwslaundry.com/i-7802027-whirlpool-354730-dryer-bolt-5-16-18-x-2-3-4.html
http://www.pwslaundry.com/i-7803255-whirlpool-90984-dryer-nut-5-16-18.html
http://www.pwslaundry.com/i-7802036-whirlpool-356674-dryer-cone-wedge.html
http://www.pwslaundry.com/i-7802264-whirlpool-487939-dryer-nut.html
http://www.pwslaundry.com/i-7803255-whirlpool-90984-dryer-nut-5-16-18.html
http://www.pwslaundry.com/i-7801593-whirlpool-3357341-dryer-bracket-front-top-lock.html
http://www.pwslaundry.com/i-7801876-whirlpool-3401402-washer-dryer-cord-power.html

	Whirlpool CG2951XYN2 02 - CABINET

